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PART -1 : GENERAL ENGLISH
You may go now.
This sentence can be used:
(1) to take permission (2) to make an offer
(3) to give permission (4) to make a request

[ feel home is a better placc to relax.

The above sentence expresses

(1) Agreement (2) Opinion
(3) Prediction (4) Refusal

Your friend wishes to meet you but you are engaged with some other work. How do you
express your inability?

(1) By all means (2) [I’'m afraid I cannot make it

(3) You may go now (4) Iam not your friend

If T were you, I would help you complete the task.

The above sentence comes under:

(1) making a suggestion (2) making a request
(3) making an offer ‘ (4) refusing perniission

Your uncle gave you permission to use his bike.

How do you express your happiness?

(1) Iam very sorry (2) Your bike is awesome!
(3) Itis very dirty (4) Itis so kind of you
He received a proportion of his from selling tamarind seeds.

Choose a suitable word that fits in the blank.

(1) wages (2) income

(3) salary (4) labour

The minister decided to visit the and extend his support.
Choose a suitable hyphenated compound word.

(1) newly-constructed house (2) pebble-strewn road
(3) well-educated people (4) flood-hit villages
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8.  Aperson who is unpleasant and tries to offend people is a/an
(1) extrovert (2) placid
(3) obnoxious (4) suave

9. Idon’t want to give way for unnecessary matters.
Choose the right meaning of the underlined.

(1) happen (2) allow

(3) think (4) disagree
10. A person with knowledge and reasoning is a/an

(1) expert (2) intellectual

(3) snob (4) literate

11. The judge advised the disputing parties to settle through discussion.
Replace the underlined word with the word that has same meaning.
(1) negotiation (2) rehabilitation
(3) vegetation (4) degradation

12. The greatest work of Satyajit Ray was Apn’s Trilogy.
Replace the underlined word with the word given below with same meaning.

(1) verbatim (2) alma mater

(3) linguafrance (4) magnum opns.
13. Pick out the word that ended with a suffix.

(1) discontent (2) conviction

(3) bicycle (4) diameter

14. Oh, I call it a double-faced behaviour.
What is the underlined word?
(1) acompound adjective (2) aprepositional phrase
(3) anoun (4) an adjective

15. Father’s face lit up with contentment.
Pick out the right antonym of the underlined word.
(1) satisfaction (2) happiness
(3) displeasure (4) commitment
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16. As a taken of , Ray agreed to be the co-founder for Chitrahani.
Choose the correct word that fits the context.
(1) friendliness (2) friend
(3) friendly (4) friendship

17. You can certainly do it.
The word ‘can’ in the above sentences indicates:
(1) ability (2) inference
(3) compulsion (4) obligation

18. The film industry is expanding in leaps and bounds.
What kind of expression is the underlined?
(1) compound adjective (2) binomial
(3) bilingual (4) compound phrase

19. Many great artists paid their tribute to ‘Mahanati’, Savitri.
What is the parts of speech of the underlined word.

(1) Verb (2) Preposition
(3) Adjective (4) Noun
20. Pick out a word from the options given below that indicates a positive quality.
(1) stubbom (2) affable
(3) slovenly (4) sarcastic

21. I quickly sat down on a rock. My father laughed at my plight.
Combine the two sentences using ‘when’.
(1) When my father laughed, I sat down on a rock.
(2) I quickly sat down when on a rock, my father laughed.
(3) When I quickly sat down on a rock, my father laughed at my plight.
(4) Isatdown and my father laughed when I am on plight.

22. Choose the alliterative word from the words given below.
(1) tata (2) teemy-weeny
(3) aye-aye (4) see-saw
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23. Rupa describes her feelings poctically. She has the ability to become a
Choose a word that best suits the above blank.
(1) artist

3) t (2) essayist
poe

(4) poctess
24. Neelima said, ‘My new Job is very interesting’.
Change the sentence into Reported Specch.

(1) Neelima said that her new job was very interesting
(2) Neelima says that her new job was very interesting
(3) Neelima said that my new job is very interesting

(4) Neelima told that her new job is very interesting

25. The poet has learnt the ways of the world.
Change into ‘passive voice’.
(1) The ways of the world has learnt the poet.
(2) The ways arc learnt by the poet of the world.
(3) The poet has been leamnt by the ways of the world.
(4) The ways of the world have been learnt by the poet.

26. It’s high time he the project.
Choose the right verb to fill in the blank provided.
(1) submitted (2) submits
(3) will submit (4) will have submitted

27. Thave lived in Hyderabad for 10 years.
The verb in the sentence 1s in:
(1) Simple past tense (2) Present perfect tense
(3) Future tense (4) Past perfect tensc
28. In addition to his regular studies, Rohan picked up a Diploma course.
Replace the underlined word with a phrase that best suits.

(1) Besides (2) %n pl.acc of
(3) aheadof (4) inspite of
29. Itook my horse swimming day or two ago.
Fill the blank with a right article.
(2) a
83 ?}?ce (4) no article
— T e
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30.

I'was not trained enough for the game.

The word ‘enough’ in the sentence acts as:

(1) adverb (2) adjective
(3) noun (4) conjunction

31.

T'understand your problems; however I can’t help you.

The linker ‘however’ functions as:
(1) Result (2) Indicatingaddition
(3) Indicating a similarity (4) Contrasts

32.

The time was up but the make up person would not turn up.

Identify the function performed by the modal.

(1) possibility (2) future of the past
(3) compulsion (4) suggestion

33,

Napoleon won the French honors. He died at St. Halena.

Which Relative clause can be used to combine the sentences?
(1) who (2) which (3) that (4) when

34.

Come home early. I want to discuss an important issue.

Combine the sentences using ‘if-clause’

(1) IfIwantto discuss animportant issue, I should come home early.

(2) IfIcomehome, Ishall wantto discuss an important issue.

(3) Ifyoucome home early. I shall discuss an important issue.

(4) Ifyouhad come home late, I shall not be able to discuss an important issue.

35.

They may feel jealous __ your success.
Choose the right preposition and fill the blank.

(1) of (2) about
(3) on (4) at

36.

Which writing activity among the following expresses your emotions?
(1) anadvertisement (2) anessay
(3) anewsreport (4) adiaryentry

37.

In which letter among the following, a subject of the topic not necessary?
(1) Letter to the Health Inspector (2) Job-letter
(3) Personal letter (4) Formal letter
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38. Signature is a necessary element for:
(1) A formal letter (2) Non-formal letter
(3) Diary Entry " (4) Alltheabove
39. When two or more persons involve in expression of thoughts, it is:
(1) aconversation (2) adescription
(3) alctter (4) note-making

40. How do we end the script for speech?
(1) Greetings to everybody
(2) Hellocverybody!
(3) Thanks for this precious opportunity
(4) Nice occasion '

41. Every poem you read has one important element among the following.
(1) Theme
(2) Punctuation
(3) Structure of grammar
(4) More than two stanzas

42. Pick out the short form of ‘will not’ :

(1) will’nt (2) won’t
(3) wouldn’t (4) shan’t
43. Choose the correct spelling of the word. |
(1) govemance (2) governence
(3) govemce ’ (4) govamance
44 Write the noun form of ‘prefer’ from the following options.
(1) preferable | (2) preferred
(3) preference . (4) preferation
45 Choose the right word for the following sentence in possessive form.
“The shirt belongs to Charan’.
(1) Charan’s shirt | (2) it’s shirt
(3) shirt of Charan (4) he’s shirt
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(46-50) Read the following passage and choose the correct answers to the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins,
the more we realize that their society is more complex than pcople previously imagined. They
look after other dolphins when they are ill, care for pregnant mothers and protect the weakest
in the community, as we do.

Some scientists have suggested that dolphms have a language but it is much more probable
that they communicate with each other without needing words. Could any of these mammals
be more intelligent than man? Certainly the most common argument in favour of man’s
superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less

we appear superior when we destroy them.
46. 'What is common about Dolphins?
(1) They were found since Roman age
(2) They saved humans
(3) They killed the sailors
(4) They are the largest ones on land

47. According to the passage, the community of dolphins is:
(1) complicated (2) simple

(3) friendly (4) big
48. How are dolphins similar to men?

(1) They have two legs like men

(2) They can speak like man
(3) They are caring and compassionate to their community

(4) They are very complex creatures

49. Dolphins communicate with each other

(1) without talking . (2) by babble of words

(3) by making friendship (4) by intelligent means
50. Man'’s superiority over Dolphins is:

(1) remarkable (2) excellent

(3) extraordinary (4) degrading
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PART - II : MATHEMATICS

51. Ifthe LCM of ‘a’ and 18 is 36 and HCF of ‘@’ and 18 is 2 thena = _
‘@’ 508030 18 © £ 36 S8 ‘@’ $8050 18 © K.3r.ar 2 ©o0S a =
(1) 18 Q) 2
(3) 4 (4) 36
52. 1og£i7 + logz% 3
3 3
0 1 2 0
2
G 3 4 -1
53. L.C.Moflog,8, log,161s
log,8, log,16 © &.&.i%.
(1) 12 2) 8
3) 3 “4) 4
54. If2log,x= 6, then the relation between x and y 1s
2log,x=6 ©ond, X,y © 0@y dowodSw
1) x=y (2) x*=y
G) P=y @ x=5
55. Ifn(4) = 12, n(B) = 15, then minimum number of elements present in AUB is
n(Ad) = 12, n(B) = 15 @028, AUB & ¢oddth 835 Sorose Somg
1) 12 2 3
(3) 27 @) 15
T
56. If Ac B,then (4UB)—(4NB) =

Ac B wond, (AUB)-(4NB)=___
(1) B-4 (2) A-B
(3) 4 4 B
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57.

If4A={x:xeN,xis afactor of 30}, B={x: x1is a prime factor of 30}

then Venn diagram of AU B is
A={x:xeN,xo38 30 & 580850}, B= {x: x 38 30 § H5& s°EegmoSn |

@008 AUB Q &rdoth IS QES» -

(1)

610} o |5

B 1

A

U

A B

U

6 6
o () o ()t
30 30

58.

Observe the given rectangle, then its area in polynomial function is

808 &Y BEEFR) $03000), 2FVHB BIooHoS® T JTogo

7—-x

x$2

(2) A®x)=-x"+5x+14
4) A(x)=-x"-5x+14

(1) A(x) =x*5x+14
(3) A(x) =x*+5x-14

59.

If one zero of a quadratic polynomial 2x*+kx—15 is 3, then the other zero is
2P +hx-15 & 0058 Bng) o g 3 wos BokS EgEn

——

&

n 5 @

@) -5 4) - -1
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60. If oxand B are zeroes of the polynomial p(x) = x*~5x+6, then the value of (6)" = __
o, Beo p(x) = x*-5x+6 25058 Hy88 (a-B)’=
(1) o @) 1
(€) | 4 6
61. If one zero of the quadratic polynomial ax*+bx+c is 0, then the other zerois
ax*+bx+c w3 3¢ T0H08 o8 g0 by wond BodS drdgdn
- 5
1) o (2) P
- c
e - @ =
62. For which value of ‘k* will the following pair of linear equations have no solution?
‘k RBog), O eS8 Bods DS BHoH HMo¥seTe 28K FES BodEH?
3xt+y=1
(2k-1)x + (k-1)y = 2k-1
1 1 2 -1
(3) -2 “4) 2
- 63. The age of Lakshmi is one third the age of her father. If the present age of her father is
45 years, then the age of Lakshmi after 18 years is years.
1
08} S 6 Sob SRS’ + S0l SHB. BB ©B> Sod Sabizy 45 BoSdoen
o8, 18 JoSdore Sovd D Sody _ SoSdyorex.
(1) 21 2) 30
(3) 63 4) 33
. . \
64. The number of solutions to the pair of equations 11x-7y = 6 and 4x+9y =8 is

———

11x=Ty = 6 500050 4x+9y =8 dEseTe 288 &od ;&uqmoéozps
() 1 2) 0
@) 3 (4) Infinite (050g0)

—_—

—
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65. If the sum of the squares of two consecutive odd numbers is 74, then the smaller
number is
Bodo HE% B Jopgew Sore Jngo 74 wond, TEBS* D) Jopg
() 1 2 5
@B) 3 @4 7
66. If Sx>~kx+11 =0 has a root x = 3,thenk=
SxP—kxt11 = 0 3808603 2.8 Sareosn x=3 wond, k=
16 17
M- @)~
56
® 3 @ 15
67. If Vx=v2x—1,thenx=
x=2x-1 YoNd, X =
(1 -1 @ 0
G) 2 @4 1
68. Ifa=2,d=8,5, =90, thenn=
a=2,d=8,5 =90eons, n=
1 5 ) 8
@3) 7 4) 6
69. The n™ term of an A.P. is 6n+2, then sum of first four terms of that AP, is
28 ©oEEAS’ nd S8S» 6nt2 vond @ FES* Inde Terh dore Jndsw
(1) 60 - (2) 68
(3) 54 4) o4
70. Ifa,+ a,of a GP.is 64, then the common ratio is

a8 HEFO’ 2+ 2, ded 64 wond, IS A
(1) 8 (2) 32 3) 4 4 2

V-Maths 13-A
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555
71. 1 tl GP. A T e =
n the O A
555 s
2 g OeERS g, =
5
W o @
5
@ ! ON=
72. How many cubic metres of earth must be dug to make a well 14 m. deep and 4 m. in
diameter?
1) 196m? (2) 216m’
(3) 156m’ 4) 176 m*
14 . ', 4 d. FgddwKe 2.8 eI 08 $T) D& HSH8Srea0 Jo&?
(1) 196%° () 216 %°
(3) 156 &° | 4) 176 °
73. A solid metallic cylinder of base radius 3 cm and height 5 cm is melted to make ‘n’ solid
cones of height 1 cm and base radius 1 mm. Find the value of ‘n’
3%0.0. Fgrgo, 5 200.20. e P38z ar) E0A0D 1 0.20. 9, 1 .. a‘ira*g@vgo
Ko foSFogodearr FdS5L0NS, Q8B fopaHe Jomg Jod?
(1) 1350 (2) 13500
(3) 135 (4) 3500
74. Find the ratio of volume and surface area of a sphere whose radius is 6 cm.
6 20.8. gRrginie Féin Bng, PIWVIralis, S3080 Jrege N8
(1) 2:3 (2) $2 (3) 04 | (4) 1:2
75. Length, breadth and height of a cuboid are 5 cm, 4 cm and 4 cm respectively. Then length

of its d1agonal is cm.

4 2o0. ba @ond EFS0 ﬁ'éé) 8, i)o
(1) 13 (2) 57
3) V13 @) fs7

—_—
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The distance between (cos6, sinf) and (sin, —cos0) is

76.
(cos0, sinB) So8as0 (sind, —cos) © &g &8o
M 3 @ 2 3 1 @ 0
77. The vertices of a triangle are A (2, 2), B (4, —4), C (5, =8). Then the length of median
through C is
A (2,2),B(4,-4),C (5, -8) e @bz domen. Cogos F&D Soghesop sy
M) Jes @) 117 (3) 85 @ 113
78. The area of a triangle formed by (a, a), (atl, at+1), (a+2, &) 1S
(g a), (atl, atl), (a+2, a) T 8% @b ITeg0
1 1 @ 2 @) @ 4 2a
79. The points (k, 2-2 k), (1-k, 2 k) and (—4—k, 6-2 k) arc collinear then k =
1
(B) -lorl 4 -1 or—>
oI (k, 2-2 k), (1-k, 2 K) $980% (4%, 6-2 k) o 5EPSrBS k=
(1) —166‘5 ) —Eéwl
1
@) -8l @ -185
80. In APQR, 4, B aznd C are midpoints of QR, PR and PQ respectively. If the area of
A PQOR is 14.4 cm”, then the area of AABC is cm?.
POR \&2H2250065° A, B éaazﬁaa C oo 33 OR, PR 558050 PQ o %85 dotren.
APQR 37050 14.4 20.00° woxnd, AABCZS&P@SO 250,52
(1) 72 (2) 36 3) 48 @ 1.6

V-Maths 15-A
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81. Inthe figure AB = cm.
QLI ood AB = 200.80.
e
\W@
60°
A D B
1) 6 (2) 18
(3) 24 4) 30
82. In AABC,XY// BC,AX:XB=2:1,then AAXY: AABC=___
AABC&* XY/ BC,AX: XB=2:1 wo0S, AAXY: AABC=_
(1) 9:4 2 19
(3) 23 (4) 49
ADEF
_ iven figure, DE // BC and AD : DB = 5:4, then =
83. Inthe given figure ACFE ———
ADEF _

-' 358030 AD : DB =5:4, ®woxd
ad)d dwos® DE /I BC ACEB

81

1) 75
25
3) % @ 3

V-Maths iEA
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84. In a wall clock, length of minutes hand is 7 cm. Then find the area covered by it in
10 minutes of time.
(1) 7?7 cm? ) 154 cm®
(3) %‘:cmz 4) 77 cm’
2§ B8 KASSrEosS' Ao Sy PEY 7 Po.. ®ond vd 10 DSt e
TG0 ’
('1) g 2602 2) 154%0.2°
3) l—zi?oo.sz 4) 77 %0.2°

85. A tangent PQ ata point ‘P’ of a circle of radius 5 cm. meets a line through the centre O at
a point Q so that OQ = 12 cm, then PQ = cm.
‘0’ SoBorrKe 5ESND P’ DoddY Sod A JEPB PQ. SEorgrgsn 5 Do..
%80350 O 508 Q 585 ADS Tp F&PH 0Q =12 Ho.0. wons PQ = 200.20.
I 79 @ 119
(3) 169 4) 13

86. PQ is a chord of a circle. The tangent XR drawn at X meets PQ at R when produced.
IfXR = 12 ¢cm, PQ = x cm, QR = (x-2) cm, then x = cm.
2.8 Syomd8 PQ g amg. 5@ X Dot S¢ AdS 2y XR, PQ & rdnodm R 3¢
£9256. XR = 12 %0.20., PQ = x20.20., QR = (x-2) %0.80., ®on& x = =30.5%.
1) 6 @) 7

3) 10 4) 14

V-Maths 17-A
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87. If cosec 39° = p, then the value of —1—+sir123'9°+1an2 51°-

cosec?51° sin?51 ° sec?39°
1S
- . 1
cosec 39° = p wany, 5 o+5111239°+tan251°— — o 2400 Sead
cosec”51 sin”51°.sec” 39
1) p*-1 V) pr-1

@) 1 @ fi-p?

88. If cosec + cosec?® = 1 then the value of (cot'?8 — 3cot'%9 + 3cot®d — cot’0) is

cosech + cosec?0 = 1 wons (cot™®8 — 3cot!%9 + 3cot® — cotée) DS

(1) -1 2 1 () 0 (4) -2

89. Ifsin21°= i, then sec 21° — sin 69° is
; Yy

sin21° = X ©oS sec 21° —sin 69° =

—

Yy
() —Zi ®) /—L
x.\/yz—xz x.A[x% = y?
x? X2
) T 2 5 4) T
(3) y. /yz_xz “) y.m
' | 2 IR RN e e P S ST
. The simplified valueof | ——— | is :
- . R s secH+tan9J -
. S0 B850
sec@+tan @
(1) secB + tan6 (2) sin® - cosp
1—cosé l1-sin@
4
() 1+cosé *) 1+sing
——

V-Maths 18-A
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91. If two poles of heights x m. and y m. subtend angles of 30° and 60° respectively at the
centre of the line joining their feet, then x : y is

X 2. $08050 y D, JdKe Body JoFsney T8 Foro Eeod) Bp DEgHoSY I
SEJm 30°, 60° Serreds BK)ows, x 1y =

I 3:1 2) 1:3
3) 1:2 4 2:1
92. The length of the string of a kite flying at 50 m. above the ground with the elevation of
60° is m.
FrD08 50 . ARG D& 28 MODLO Bk, To 60° e giEer) BF)Hydd
T80 >ED .
(1) 57.73 (2) 173.2
() 4227 4) 732

93. Two dice are thrown together. What is the probability that the sum of the number on the
~ two faces is divided by 4 or 6?

B0y rRE0I 2830 F'BoAIIYR I8 Tod Swpdve X)) woio IwgSn
4 8o 63 rhostersd BogrSgs Dod?

14 7
M 5 ® 3
7 8
® I @

94. Find the probability that a leap year selected at random will have 53 sundays?
8 O doSdBoes® 53 wbTTen STy Sogrdgd Jod?

y + 2y ——
7 P
O 5 @ =

95. If we toss a coin 2019 times, then the probability of getting at least one head is
28 TE308 2019 &) KT, END0 a T D8 doarsgs

- . 2019
(1) 2019 (2) m
22019 -1 22013
(3) 22019 (4) 22019

V-Maths 19-A
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96. If the probability of an event ‘E’ is 60%, then what is the probability of “‘not event E"?
Wb E Q) H0erSg8 60% wans “E 5" o st G, Soarssd J08?
3 2
M3 @ %
4
3} = -
® 3 Ol
97. Range of first 10 whole numbers is
A0¢5¢3 10 *.gj’o;os‘es TN
M 9 () 10
3 0 @ 1
98. Mean of first ‘»’ natural numbers is
S0EE ‘n’ SSre éozpso PTaT AN
n(n+1) n(n-1)
(1) > 2) >
n+l1 4 n-1
® @ =
99. Average of 20 numbers is 17. If 3 is added to each then new mean is
20 Bopge Bt 17. 8 Jopgho 3 EO1FL00E IGAS S8 dopge DK
(1 77 (2) 40
3) 37 4 20
100. The mean of 30 students is 42. Among them three got zero marks then meap of remaining

students

30 S008 :)a‘gdgo Jnen 42, 8e° amigag JtOJc'sal sSJ‘doz:e» a’ai’)a:é:). ADY Dc:vsc%e;
DK

(1) 46.67 (2) 34.05

(3) 44.5 ) 482
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PART - III : PHYSICAL SCIENCES

101. The value of latent heat of fusion of ice is

(1) 80 cal/gm (2 80 calkgm
(3) 540 cal/gm (4) 5480 cal/kgm
5008 (BDEFSS HAJ0 Jend

(1) 808s*s/gro (2) 8036/ r0
(3) 5403s%/ o (4) 548035°6/8.ro

102. Number of Protons present in Na™ is

Na' &od @Férd dopg

1) 23 2) 11 3) 12 @ 10
103. Which of the following is Dobereiner’s Triad.

Bod TAS* T2ENE (B¥o

(1) Li, Sr,Ba (2) Ca,Na, K (3) Ca,Br,I (4) S,Se,Te
104. Bond Energy measured in

(1) kgm/mol (2) kgmmol (3) kJmol (4) kJ/mol

20858 &* FeodH

(1) 8. ro/I>rS (2) & ro IrS 3) &7 IS 4) &85/ 3IrS
105. Tesla is a unit of

(1) Electric resistance (2) Magnetic field density

(3) Induced current (4) Potential difference

B 8 (D0

(1) Doy dF'Go Q) ecHd o8 dTE Fol8d

(3) (288 dogd (4) >BIHS Do

106. The volume of hydrogen liberated when 92 gms of sodium reacts with excess of water at

STP is
(Atomic masses of Na =23U, O = 16U, H = 1U)

(1) 4.48 litres (2) 48.4 litres (3) 44.8 litres (4) 4.84 litres
STP ¢ 96 (rd»e Ao ©RE W8S IEgrod Do TR WERS HSHOS 00
(Na=23U,0= 16U, H = 1U 28370 (@SgoeHen)

(1) 4.480L8 (2) 48.40L& (3) 44.80L% 4) 4.84 O
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107. Abulb marked as 120 W and 120 V, then the resistance offered by the bulb is Q.
&8 2e0)D 120 W S8 120 V ed 0 HHB. © weg) SHOA Ao Q.
(1) 120 2) 240 3) 60 (4) 180
108. The magnification value of a mirror (m) is +1.25 then it forms image.
(1) Real, Enlarged (2) Real, diminished
(3) Virtual, enlarged (4) Virtual, diminished
2.8 B5)mo GRwf), 6580 Deos m=+1.25 vwand & &8ye00 , 2800wy
QEYEB08.
(1) =, PE3S (2) =, DHBS
() DFg, wEBS @) g, OHBS

_—

1
109. CaSO,, ) H,O0 is known as

(1) Washing soda ' (2) Baking soda

(3) Plaster of paris (4) Bleaching powder
o

CaSQO,, ) H,0 ™ @G Bodod.

(1) ayovra (2) Sobodim

(3) 6 &S 065 (4) H0of a6

110. CMC (regarding soaps) means
(1) Central Miscelle Concentration (2) Current Miscelle Concentration
(3) Concentrated Miscelle Coacentration (4) Critical Miscelle Concentration
CMC (Seayen S6om) edm
(1) oS DO SIISBAS (2) ¥B0&S RO SIISBAS
(3) SIIIBEBE D1 Dobb (4) BEES VO 5IHIBWAS

111. The education formagnetic force on charge when there is an angle ‘6’ between the direction
of field B and velocity of charge ‘V’is (Q represents charge)

€V’ Bho Ko 6378 wcHhAod §@ B¥ Ddgie oo ‘0’ wond VA, 08 weo
F = (Q &37Q) £rD308)

(1) QVBcos® (2 Q-g-cose G) QVBsind (4 Q%sme
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112. The critical angle of diamond is

(1) Less than 26° " '(2) ' Mote'than 28°
(3) Between 36° to 57° @4) 10224

S@o B, Hodf w0

(1) 26°$a 889, (2) 28° s 2k
(3) 36° 008 57° & Hosgs* @) 102024

113. Correct form of equation for formation of Sodium Oxide in the following

1Bod TAS* FBoHo wHE SSrES BOHE D HBHK dEGe0

(1) "2Na?*+0* - Na,0 (2) 2Na*+0* - 2Na,0,

(3) 2Na"+0* - Na,0 4) 2Na*'+0* - 2NaO,
114. Bauxite is ore .

(1) AHalide - (2) An Oxide

(3) A Sulphide (4) A Carbonate

T 036 0

1) =rs& (2) o8&

() I8y (4) =6)IS
115. Ethanol is

(1) Farmaldehyde (2) Ethyle Alcohol

(3) Methyle alcohol (4) Acetaldehyde

2B87S @08

(1) >oyQeé (2) 23S soySS

B) 3S veySS (4) Nryirs

11;5. X Mg (OH), +Y H,SO, — MgS0, + 2H,0
Then X, Y are respectively ,
X Mg (OH), +Y H,SO, — MgSO, +2H,0
wond X, Y denden S&dm
(1 1,2 @ 1,1

@ 31 @ 2.2
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117. A silicon ch_ip is used in an integrated circuit of a micro computer_has a mass of 2.80 mg
(mass of chip) then the number of atoms of silicon are presented in the chip

(Let Atomic mass of silicon is 28 gm)
2§ PEEoYrgises* 208HBE Sam,giSen dotts 2.80 Jo.r ESgTEE HOTS DB
T38 wo&eS* &od DOSS VESrenHe Sopg

(RO5°S Boo¥), HESren K¥Sgoe2 28 gm) -
(1) 6.022x10% (2) 6022x102 (3) 6.022x10° (4) 6.022x10

|CH3 (‘Isz
118. CH,;-C-CH, -CH-CH,0H is
cH,
(1) 2,2, dimethyle, 4 Ethyle pentan - al
(2) 2,2, dimethyle, 4 Ethyle pentan - ol
(3) 2 Ethyle, 4, 4 dimethyle pent - 1 - al
(4) 2 Ethyle, 4, 4 dimethyle pent - 1 - ol
(I:Hs CI:ZHS
CH,-C-CH,-CH-CH,0H 38
(|3H3 |
(1) 2,2,32088, 4 23S Dod - S
(2) 2,2,30885, 42385 DobsS -5
(3) 2285,4,43208S5 2o -1-ud
(4) 2285, 4,4 30S o5 - 1-885

119. E=ﬂ isknownas __ law of induction.
(1) Lenz's (2) Ampere's
(3) Faraday's (4) Oerstead's
_A% . =a 5B, 08 (hbm drgodo
" Aato§ (2) @odoHs (3) >sa @) wosy 535
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120. 10 pico meters =

(130) ;(;J i @ 10™cm
® (R} ‘J =
S e @ 102705

121. Aﬂ_Obj eCF of 5 cm tall is placed before a spherical mirror at 20 cm distance. So as to form
a virtual image of 10 cm tall. Then the focal length of the mirror is

(1) —40cm (2) 35cm
(3) —20cm (4) —80cm
5200.20 FEHKe 28 S8 w8 Fess Eoymo 5006 20 20.20 KrSos* Gotm 0B
10 0.2 FEIS Mg (H8D0erQ) AEPN08. wond & S8y Jergodso
(1) —4020. (2) 35%0.»
(3) —20%o.a» (4) —-80%0.o °
122. If the absolute refractive Index of A, B, C are 1.31, 1.34, 1.44 respectively. Then the
optical density of A, B, Cin descending orderis
A, B, C o @ S8558 thesren S&K3m 131, 1.34, 1.44 @008 o8 (A, B, C) ©
SyFIFrodde w58 Esost
() C>A>B 2) C>B>A
(3) A>B>C 4 A>C>B

123. Atomic number of mendelevium is
oddIcsho B0E), HESTe0 dopg

1 11 @ 24
3) 101 @ 116

124. When sodium Hydroxide reacts with Zn the products are
(1) Sodium, Zinc Hydroxide (2) Sodium Zincate, Water
(3) Sodium Zincate, Hydrogen (4) Sodium Zincoxide, Water
&oso a‘@'@‘ﬁ 2068 $8g BoBIYE IEYE Bosraargen
(1) &a@cHo, =08 TERE - (2) #Bo%o 208, &
(3) &&odo 20865, T2 (4) &F&oo zaos"E)E, D&
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125. Which of the following has longer wavelength than usable wavelength

(I) UVrays (2) Xrays

(3) yrays (4) Radiorays

8B TAS* B BB g0 EYFSE SEBLEG0K BYgow KT MRS SOE.
(1) UV &8eoen (2) X88eren

() Y88eren (4) JBBr 8een

126.

A, B, C, D are having temperature as follows
A,B,C,D S|S0 & 8od dom <m0,
A B C D
24°C 280K —4°C 289 K

has more temperature than all the other 3.

127.

TEST & Doffer SordoBEa 89S GaPS Sk,
1) A 2 B

3 C @ D

The velocity of light in vacuum is

(1) 3x108 kmph () 3x10® m/s
(3) 3x10% crn/s @) 3x10% km/s
Eigoss® 5708 ko

(1) 3x10%8.20/K08 2) 3x10% &z
(3) 3x10%20.20r% (4) 3x10% 8.5/

128.

An example for Auto reduction

905063 EoorESoth Gmrdrden
(1) TiCl, +2 Mg —2¥< Ti+ MgCl,

(2) TiCl, +4Na € Ti+ 4 NaCl
(3) 2Cu,0+Cu,S — 6Cu+ SO,

(4) PbO +C —“%€ , Pb+CO
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129. B and angle of HNh in NH, is
NH, &0 &od HNh Ro¥), 208 0
(1) 104° 31" 2) 107°48' (3) 127°48 @ 120°

130. Which of the following can be converted into Anion
(Arrangement of Electrons in each orbit is as follows)
808 °0¢5° wdcHS 5°EASH

(88)¢rSs® JoFgiSo 8588 oo & §od ddorr &o20808)

1) 2,81 2) 2,8,2 (3) 2,83 4) 2,8,7
131. Coordination number of Cl" in NaCl is
() 2 2) 3 (3) 6 (4) 0 (zero)
r8aso §38S° Cl” Gng), S50850% Sowg
(1) 2 2) 3 3) 6 (4) 0(&Sg0)
132. Focal length of human eye lens can accommodate between (Healthy Human)
(1) 2.84cmto3.04cm (2) 227cmto2.5¢cm
(3) 0.02cmto0.2cm (4) 2cmtoS5cm
3789 839 Boog), LY Derin B8 e S8 egoddo 00D 35%

(1) 2.847on o S0 3.04 on A
(2) 2.27 %on o &08 2.5 o1
(3) 0.02%on 20é 0.2 on &
(4) 2o > S208 5on &

133. The colour of litmus in neutral solutionis

(1) Red (2) Blue
(3) Yellow (4) Purple
S0 ESe008* DR goik

1) | 6% (2) Qoo

(3) H%D (4) S0&6H o ok
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134. While preparing Ethanol from Ethane the catalyst is
(1) P,0; (2) Ni (3) Sunrays 4 HO
$BS K00 WEF'S Solirdhy BrgH)ssdo T8 &BysEo
(1) P,0, ) Ni 3) &rdg sere0 (4) H0

135. Which of the following statement is true
(1) Concave mirror always forms real image
(2) Concave mirror always forms virtual image
(3) Convex mirror always froms real image
(4) Convex mirror always froms virtual image

808 TRS® JSgRHH

(1) Jrs8 SSypo IQIYEr 2 ESN0WT) EYKHH08
(2) LTS S0 IQHYET TG HADoWR) )08
() %ozrs 8 8yRo JOVEr Jz HEN0T) AR08
4) S0275°8 &80 JYBYET DTy R8D0rT) AEYEB08

136. Doctor advised to use 4D lens, then the focal length of the lens is

() 25m (2) 25cm (3) 40m 4) 0.04m
@§6 4D ELsR) BB JrO R @ §&E TPgodso
(1) 252 (2) 25oud 3) 40 4) 0.04 2>

137. The intensity of scattered light is maximum at
508 H0EH B3 whEor God 5o

(1) 0° (2) 45° (3) 60° @) 90°
138. In groups the value of increases ‘ .

(1) Atomic radius (2) Electron affinity

(3) Ionisation Energy (4) Electron negativity

ErHest Dend D&

(1) H8Sre0 Tgrgo (2) doFS DI

(3) @SS & (4) QoxS R

S ——

139. 1s? 252 2p° 352 3p° 45! 3d!° is the electronic configuration of

162 267 2p6 352 3p° 4s' 3d'00B8 ____ IO 2Fgdo

(1) Cr 2) Cu (3) Mn @ 7
—\
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\
140. g;llcidgtecting Alcohol in driver's breath intially the colour of Cr,0% is
cd (2) Orange

(3) Bluish green (4) Yellow

:ao{ga’ﬁm WS TIE SEdoe Foe’ H0FO[)[ydy S Cr2027_ B8y,

(®)

(1) 0P 2) &Box (3) S0 wsdEy (4 Y
141. Dogs pant during hot summer is due to

(1) Condensation (2) Freezing

(3) Boiling (4) Evaporation

335w 0es* So8) 00 SKKHP: Trens SrHLs 580

(1) &Fod¥swmo | (2) oSS0

(3) DosKse (4) wrayESso

142. A double concave lens with 1.5 as refractive index is kept in air then it's focal length is
(radii of two surfaces are R, = 60 cm, R, = 120 cm)
() -80cm ° (2) -120cm (3) 240 cm (49) 180cm
1.5 5@2}5;5:6 Koeso o w8 8¢ YErses dso mds® GoNE o° Srg¥godso
(Bgse sgrgsoed R, = 60 Son 7, R, =120 on )
(1) —80ou (2) -120%on 2>
(3) 240on (4) 180 on o

143. Let the resistance of a human body is 1,00,900 ohms and it has 240 V potential difference.
Then the current passes through the body (i) =

355 $680 1,00,000 &0 DS DETR) KON BotsSH%0, I8 240 V R
Ao £On &oB, v 680 thow B30 degd (i) =

(1) 0.024A -

() 244 (4) 2.04A

144. If 1 litre water is heated for certain time tg rise it's temperature by 4°C. If 4 litres of water
. s heated for same time in the same condition then the rise in the temperature is

| Herb Po5H0STE0 Ko D38 §od o Fodsroo .&905';3 T SAKS 4°C 1OAOE,
455 500" o3 oGS DG TI) wodY 4 LY ABS* R SPKS
(2) 2 = (3) 3°C (4) 4 °C

®od

) 1%
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145. A magician during a show makes a glass lens n=1.47 disappears in a liquid then the refractive
index of the liquid is

28 302R00S N = 1.47 K> mrovgs o, B50S* &od EdBoston BT, 008 & 830
o), LSS Koeoko

1) 294 @) 147 @) 441 4) 147
146. Refractive index of water is 1.0003 is measured in

(1) cm @ m (3) km (4) * nounits

N8 B0y 3858 Koo 1.0003 o S* T,

(1) =onds 2)

B) &iar (4) BSrerer ol

147. Lens makers formula
S0 Sa5r8 Srigo

I 1 1 1 1 1
) f vV u @ T

e mop( L L L one o sfos, 1
3) F—(n 1)(R1 RZJ “) £ R, Rz)(l n)

148. The prism with crown angle A (60°) produces an angle of minimum deviation of 30°,
Then the refractive index of material of the prism is

S8 S0 A (60°) Ko 2.8 H&E0 EXR dsed Seo 30° 23536'?_\3 B Q80 SASrSHBKHHES
f.’oa‘g 5@25&’)«‘6 o

1
M) 243 @ 2 e )5 @ 2
149. In the Rainbow the inner most colour of cone is
(1) Red (2) Blue (3) Violet (4) Green
aoLchc‘S"m“)eS‘ ©&g0d wodBoes® &od Fognd) Rog) Sotky
(1) NIeSH) (2) 0o (3) OE80K) (4) @&éij‘)

150. n +1 value of 4s is
4s oo, n+1dend
1) 1 2) 2 @) 3 @) 4

30-A
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